B B B R Y Y P Y Y P Ny S S O IS PO
B it
3 o
|3 o o
) SN v s
b Rin RS
. ror] 2 AR
) = s I SN
950 S : s
- o o] = | 3 S
332 God R ~ || = o o
- G V2 - Fl- || SR
Sod = || & 3 S
$ < s, EN = et
“ - o A Y 4 2 S
- By Sk N Seas
o> R — el 3 R
. S = / N w, A N
=~ God D = . ~ oy
9 Giged g > S
- Gl A - SEK
R 5 R
P i N A s
p o Y |\ N IS »/ s
S 154 BENI N I S
o 1 [ w BIEEW IR s
o A “4 3 R
o B 5 | B
S D x| RS
5% 3\ S | o
R ° V), - R
S . 2 4| B
R H ay 3 | BEE
o n o 3 s | b
o = 3 3 e =y we s
s - ) M . ) e
N‘vﬂy\ W . Ko 3 M : 3 Vﬂd&v
. R L. . S N : 3 B,
; e DN gl S gy | o= e 3 a2l = | RS
I — Sod 9 //M N :) 3 I|¥r |3 3 Y
Gon] 3 3] : g JIEN 3| R
Do 3 Gl 2 o = 3 3= | R
o < R 2 3 3, : s 3 | b
a2 D > 23 g | , 3, 3 |
aa N |N/ -3 . - H m 3
/ 9 A3 | 2T - 5| ]
. Yy ) «wm b . a m. w A S 3
n ru cmv IM > P u
L ) > || 3 3 3
a m 2 "m" ew‘ . 3
W ww IR
— 3
Al 2.
24 T3
0695 8EL S0 1130503




-

~

((cowl (SBlol alos ) Tlaw! i guai ploS ay by o ados plaS asS ezl (polai 4 asei b

(19) Q0)

a) Cut your coat according to your cloth.
b) Too many cooks spoil the broth.

c¢) Kinetic energy is the energy of motion, observable as the movement of an object or
subatomic particle.

d) Water can be converted into ice in cold weather.

e) The energy achieved from the rise and fall of tides is called tidal energy.

:‘sf.>|53l>' PU ) PU
\F+4/Y/18 :o,.o)'Tz’_q)U aads 1. :og.o}i IRV
P 31Y anio (25 5 ool i) g 3lgd 1y ol by 2w y0 oL
(T )
Questions Points
Vocabulary 3
1

((Cowl (Blol aols’ SG) oS Jol5' 1y 395 WMo ol 0018 lolS 51 soliswl b

counterparts / margin / flock / likelihood
21) Why do women in top managerial positions earn less than their male...... ?
22) With the ........ of a thunderstorm tonight, the game will probably be canceled.
23) The scare caused people to .....to banks and take their money out.

0.75

(ol (SLIIB (w3 Gy y25 Q) S oy B (ygiw 51 Gy po3 SO A (95w 31 aelS 2 51
A B
24) Demand for organic food is increasing. | a) having feelings of liking for someone or

something

25) Absence makes the heart grow fonder | b) the amount of a product or service that
people want

26) You can find the exact meaning ¢) to make new things

of part of speech. d) a category that describes the role of a word

0.75
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27) I remember during one dry summer talking to one grower who was complaining about his
poorc---.
28) Many words have been added to the first dictionary which Asadic------- .

0.5
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There’s a close link between your immune system and your mental health. When you're
under chronic stress or anxiety, your body produces stress hormones that hurt your immune
system. The immune system is a collection of billions of cells that travel through the
bloodstream. They move in and out of tissues and organs, defending the body against foreign
foes, such as bacteria, viruses and cancerous cells. Nearly all organisms have some kind of
immune system. Research done at Carnegie Mellon University has found that people who are
stressed are more at risk of catching a cold.

In one study, published in the National Academy of Sciences, 300 healthy adults were exposed to
the cold virus, then examined in quarantine for five days. Those who were stressed were more likely
to produce cytokines, molecules that cause infection, and were about twice likely to get sick.

Although you can't avoid stress in your life, you can adopt strategies to help you manage it
better. The latest study, issued in Internal Medicine Magazine, looked at adults 50 and older
and found that those who either did a daily exercise routine or performed mental training were

:‘;éb}lé ,aU ) ,a'.?
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P 3Y axio (o275 3 8l 4 y) RO 3198 sy S Gy 0 o
(T N
Questions Points
Grammar 3
DS Ol |y s 4y 35 1
29) I............ to the hospital to see Sue because I ............. her twice before.
1) wouldn't go, visited 2) hadn't gone, visited
3) didn't go, had visited 4) didn't go, have visited
30) The new high - quality models of shoes are going to ................ in our factory next year.
1) be produced 2) be producing 3) produced 4) produce
31) You are always very tired. If you ............ to bed so late, you ............ so tired.
1) don't go/ wouldn't be 2) didn't go/ won't be
3) didn't go/wouldn't be 4) went/would be
32) This is the writer.............. I was looking many years.
1) to whom 2) for whom 3) at who 4) whom
o g3 B (glr yo 1) il JB 1o Jab amo Y | 0.5
33)She ..coovvveeieee at home yesterday, was she?  (to be)
34) Around 100 babies ...................... in this hospital every week.  (to bear)
g g 5lolime alosr S5 25 4l ) w30 SlolS jloslinwl b | 0.5
35)1/achairman /If /1/new / and / ideas / would / . / were / different / offer
A gewly 5 Jlgm 43 condd 001 pguai ayazg b (| 1
36) What is done by the little boy every day? The giraffe ............
) & (who ,whom ,which) Jgeoge plod g ol 00ld pouai 4 asei b (0
37) The little boy ............ is nine years old.
Reading 4
1.5
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less likely to get sick with a breathing infection than subjects in a control group, and if they did
get sick, they missed fewer days of work.

38. What is the main idea of the passage?
1) Defending the body against foreign foes.
2) Definition of the immune system and mental health
3) Doing a daily exercise or performing mental training.
4) Direct connection between the immune system and mental health.
39. What does “they” in the first paragraph refer to ............ .
1) a collection of billions of cells 2) the immune system
3) stress hormones 4) tissues and organs
40. According to the passage, all are correct EXCEPT that ............ .
1) your immune system and your mental health are fully linked.
2) stressed people are more possible to create cytokines.
3) there are mechanisms that can be used to help you overcome tension effectively.
4) according to studies, individuals who are stressed are less likely to catch a cold.

Many countries now think that cars that burn fossil fuels should be replaced by electric cars.
Electric cars don’t burn gasoline in the engine, so they don’t pollute the air. They use
electricity stored on the car in batteries. Sometimes, 12 or 24 batteries, or more, are needed to
power the car. Just like a remote-controlled car, an electric car has an electric motor that turns
the wheels and a battery to run the motor. Electricity, the same energy that lights your lamps
and runs your TV, is stored in batteries on an electric car. The batteries can be like the batteries
you find in flashlights or in regular gasoline cars. To get the battery ready to roll, you have to
charge it. This process isn’t much different from the way you charge the portable devices you
carry around every day: your cell phone, MP3 player, or digital camera. The difference is that
you deal with a much bigger gadget that carries you around instead. The electric car is usually
plugged in at night. The car can be plugged into a special charging unit even at houses. Some
electric cars can be plugged right into a regular electrical wall outlet. Others need a larger
outlet, like the kind that a stove or a vacuum cleaner plugs into. The engineers are trying to
make better batteries that hold more energy and last longer. To overcome the problem of
charging electric cars, hybrid cars are also available. Hybrid cars combine the benefits of
gasoline engines and electric motors. They can be designed to meet different goals, such as
better fuel economy or more power.

41.What is the closest synonym for the word “benefit”?
a) item b) shortage c) power d) advantage
42. What does “they” in the last line refer to?
43. According to the passage, few countries think that cars that use fossil fuels should be
replaced by electric cars. a. True b. False
44.The batteries of an electric car can be similar to the ones you find in flashlights.
a. True b. False
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Endangered animals are one of the most important issues that are affecting the earth today.
Endangered animals are any species of animals that are at significant risk of extinction due to
the dramatic drop in their population and habitat destruction. All life on earth is part of nature,
and all species are dependent on each other to maintain the planet's ecosystem. Removing one
species from the system will have some bad effects. Scientists estimate that 100 to 10,000
species — from microscopic organisms to large plants and animals — go extinct each year.
This is 100 to 1,000 times faster than historical extinction rates. The current extinction is most
likely the result of human activity, especially over the past century. There are many things that
people can do to help save endangered species from becoming extinct. Species can become
extinct when humans overhunt, pollute the environment and destroy habitats. Besides, “Mining
companies, oil companies, and large-scale agricultural operations threaten defenseless species
to a great degree by their extractive activities and development plans”. Perhaps the greatest
threat that many species face is the widespread destruction of habitat. Scientists tell us the best
way to protect endangered species is to protect the special places where they live. Wildlife
must have places to find food, shelter and raise their young. Endangered species, habitats
should be protected and these impacts minimized.

45. What is the main idea of the passage?
1) Endangered animals as the most important issues
2) Danger of extinction of animals one of the most essential problems
3) Our planet and its dangerous issues
4) All life on earth as part of nature
46. The word “besides” in line 10 is closest in meaning to ............ .
1) in addition 2) next to 3) next 4) therefore
47. According to the passage, all are correct EXCEPT that....
1) The present extinction is most possibly the result of human activity
2) Deleting one species from the system will have some bad effects.
3) The best approach to keep endangered species is to protect the special homes.
4) Species can become extinct when humans hardly ever overhunt.

1.5

Writing

WS Sl |y s 4y 55
48. Tom's grandfather is over 80, ............ .
a) so he is very surprised. b) or he eats breakfast late.
¢) but he still plays golf. d) and it was founded 3 years ago.
49. My uncle has worked hard all his life, ............ he could never save up enough money to go
on a long vacation.
a) but b) so ¢) so that d) or

0.5
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so / but / or
50. She wants to buy a car, ............ she can't afford to.
51. The apron did not dry quickly enough to suit me, ............ I drew nearer and kept it right

over the hot ashes.

0.5
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Oceans and lakes have much in common, but they are also quite different. Both are bodies
of water, but oceans are very large bodies of salt water, while lakes are much smaller bodies of
fresh water. Lakes are usually surrounded by land, while oceans are what surround continents.
Both have plants and animals living in them. The ocean is home to the largest animals on the
planet, whereas lakes support much smaller forms of life. So, oceans and lakes have so many
similarities and differences.
52.
a) What is the topic sentence of the paragraph?
b) What is the topic of the paragraph?
c) What is the controlling idea of the paragraph?
d) What is the concluding sentence of the paragraph?
e) The supporting sentence of the above paragraph ..........

:‘;»ﬂ,}lé el g ol
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Questions Points
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1) Tell a story 2) Give examples 3) Give reasons 4) Explain topic
(concluding sentence) (g y—Sdxi alos> S g (Topic sentence) ocgo90 aos S onl 0010 81 ,S1,L (gl 1
Energy ...53... Without it, we would have a harder time because most of our activities like
cooking a dinner, heating a house, lighting a street, keeping a hospital open, running a factory
all requires energy. Thus, ...54... .

9 (supporting sentences) g (topic sentence) Moz a3 591 ;0 81,51l S JKb 41 9068,5 <ipo y 5 Sz 1.5
e g9 | (concluding sentence)
55.
- They also cause rain.
- The rain makes the air fresh and clean.
- Trees are very valuable.
- Thus, trees play a big and important role in our life.
- They supply us with many necessary things of everyday life.
- For example, they take carbon dioxide from the atmosphere and fill it with oxygen.
Moz Jolods asly BI85l oS soliiwl T 5o J93 3lg0 pled 1 5 dumws 9o SMOKING ylgie b S1,51,L 1
.2l (concluding sentence) , (supporting sentence) , (topic sentence)
- causing diseases such as lung cancer
- increasing stress and depression
- a common terrible habit among people
- being addictive and difficult for smokers to quit
56. SmMOKING .....coovviiiiiii
Total | 20
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